
YAMAHA RHINO 2” FRONT RECEIVER
Receiver	  	 Part # 100592
			   Hardware Kit: HK-045

Kit Components:
Qty.	        Part Description
1……………. Receiver Hitch
1……………. Spacer Bracket
2……………. 3/8”-16 x 1.25” Flange Bolt
1……………. 3/8”-16 x 1.50” Flat HD Bolt
2……………. 5/16”-18 x 1.25” Flange Bolt
2……………. 5/16” Nylock Nut
2……………. 5/16” SAE Flat Washer 

INSTALLATION INSTRUCTIONS:

1.	 This kit will not work without the purchase of the KFI 
Yamaha Rhino Winch Mount #100550.

2.	 Place the receiver hitch into location as shown.  The 
receiver hitch will fit under the lip that is on your 
Rhino.

3.	 Place the spacer bracket into location and line up the 
holes as shown.

4.	 Place the winch mount (not included) into location 
over the receiver and spacer as shown and line the 
holes up.

5.	 Run the 3/8” hardware through the outer holes on 
the winch mount, through the Rhino frame and then 
through the receiver plate as shown.  (Note: you may 
need to use the supplied flat head bolt in substitute of 
the standard bolt due to clearance issues on certain 
winches)

6.	 Run the 5/16” hardware through the back holes of the 
Winch Mount plate, through the spacer plate and then 
through the receiver plate as shown in Figure 1.

7.	 Tighten all bolts and if you are installing a winch 
proceed with the instructions that came with the winch 
mount.

©2012 Copyright Kappers Fabricating, Inc.   All rights reserved


